Brake Switch causes Shifting Concerns

Topic number
Version
Design group
Date

Validity

Reason for change

L129.10-N-036228

1

29.10 Pedals, bearing bracket
09-27-2005

Sprinter MY02-06

Compilaint:

Vehicle will not shift out of park

Cause:

The brake switch is out of adjustment and therefore the circuit would not close and allow the transmission to shift out

of park.

Remedy:
Adjust brake switch

Symptoms

Power transmission / Automatic transmission / Automatic transmission - function / General

on / General

Power transmission / Automatic transmission / Automatic transmission operation / Drive position selection / Functi-

Control unit/fault code

Control unit

Fault code

Fault text

EWM electronic selector lever
module

P1927

Event:CAN fault-Signal 'Stop lamp switch' is implausible.
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